FHEE BXBEISV-HEE LV Y— BHREMNZE KER-E

HEEHKRZEHR 6H.13H.20H.27H
4H HEKRZER 29H (K)
BXRAZEH (¥HEH) 30H (K)
AERK=EAR 4H.11H.18H. 25H
5H A=Y NES =] 3H(LX).58(A).68(X)
BXRARZEH (¥HEH) 318 (L)
HEEHKRZEHR 18.8H.15H8.22H. 29H
6A fBAKR=ER 7L
BXRAZEH (¥HEH) 30H(A)
HEEHKRZEHR 6H.13H.20H.27H
7R A=Y NES =] 218 (A)
BXRARZEH (¥HEH) 31H(K)
HEEHKRZEHR 3H.10H.17H.24H .31H
8H A=Y NES =] 118 (H)
AXRAER (BHER)* 30H (L)
AERK=EAR 78B.14H.21H.28H
9R HEKRZER 158 (A).238 (X)
BXRARZEH (HEH) 30H (K)
AERK=EAR 5H.12H.19H. 26H
10R A=Y NES =] 13H (H)
BXRAZEH (¥HEH) 31H (&)
HEEHKRZEHR 2H.9H.16H.23H.30H
11R HEKRZER 3H(A).24H(A)
AXRAER (ZER)* 29H (1)
AERK=EAR 78B.14H.21H.28H
12H fBAKR=ER 7L
BR-FXRAER (BRERED)*2| 278 (X).29H(A)~318(K)
FIniRk=ER 18 (K)~3H (%)
15 AERK=EAR 4H.11H.18H. 25H
A=Y NES =] 12H(H)
BXRAZEH (¥HEH) 318 (L)
AERK=EAR 1H.8H.15H.22H
A A=Y NES =] 118 (OK).238(R)
BXRARZEH (HEH) 28H (L)
HRAER (RE) 2H(A)~58(K)
HEEHKRZEHR 18.8H.15H8.22H. 29H
3R A=Y NES =] 208 (£)
BXRARZEH (¥HEH) 31H(K)
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